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Note: l. Answer any flVE {ull questions, cho-gsitl$'ONE full question fra,q each module.
2. Assume missing data suitubly. *Jh*ffiIru* ,"*Y::;,'2. Assume missing data suitubly. .,Jh*d:ru*d tln '"'
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Explain in detail oHow the structurffilved' frompremative to modern time. (20 Marks)
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2 Write a brief nete on: (i) T4rs's'srt;={ii) Arch (iii) Vault*:,.'" (iv) Dome (20 Marks)
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Mod.ure-2

3 a. What are the advanta$&g,,Qf"mildsteel and concretq?,,&u' (10 Marks)

b. What is reinforce,p.er4enfl'concrete? Mention the,jn{lbrtant properties of cement and steel.

'**''*u!&!l* "-"'l::"' 
' (10 Marks)

:1: gp ruii

4 a. Briefly expl$iBP "" t'=:Tll'

(r) t,i$i;f"ld-, (ii) Dead load ,, *,(iii) Impact load (iv) Earth quake load

b. ariuffig.hain tall buildings u,1a,{8ff8'rpan buildingr. ,*g$;Iju, [13ffi][:]
",:,"1 i:,

5 a. Explain the principle of trffigmissibility of forqetg fsP {ftu,&,- (05 Marks)
b. Find the magnitude affi${rection of the res*ultant$Sf the coplanar foisri'system shown in Fig.

Q5 (b). i (10 Marks)
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c. ExplaintWes of loads anffinorts.
i4i\5 i'+h'nl'

;eltlp.t 
ot loads anffilHphorts. (05 Marks)
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ORws#b

of span O r{,#elkuUjected to loading as shown in Fig. Q6 (a).

i*girq,Determine the reggtidpt at A and B.
,,$irr $&S,, < ad rtY

(10 Marks)
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b. A sphere weilhing 100 N is Jitted in a right angled notch as shown
contact surfaces are smopth;rdetermine the reactions at contact surface.

in Fig. Q6 (b). If all
(10 Marks)
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(06 Marks)
(04 Marks)

(10 Marks)

(10 Marks)
(06 Marks)
(04 Marks)

(20 Marks)
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c. With neatcicbtpl, explain stress strain curve for mild steel.
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. -tq,br,',. . fr--r__-_--r-t'u-9 a. Explaiitttre concept of triangulation' r i4

'r ,"'1..----^^- {"li'::,}d'b. List and explain the classificatlon of trusses' 
-s ,i ^ . .

^E..inr|fhesrrnnnrfreactionsforthetrussshowninFig*Q9(c).c. Find the support reactions{q1The truss shown i
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f 0 *:'Explain the two met[ods'used for the an4fysis of truss'
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Module-4 "4,..'$}$l3'
Explain the terms stress, strain and Poisrson's ratio' 

,,'n,.*,J"' ..3,: , -- -r1^ ^-r iA *.* 
(06 Marks)

Find the stress, strain and elongation of a steel -qi lh in length and 20 mm in diameter'

when it is subjected to an axial pull of 50 Kf'{, Eil.&'@ziiO ONI-'' (09 Marks)

Calculate the modulus of elasticity of the mat$hlflI6f a bar of length 300 mm and a diameter

^r,n *; o,,Lioatorl rn a renqile load of 60..KN.]The eloneation of bar ist'Q,4 mm' (05 Marks)

"i:O 
*"i subjected to a tensile toaa of OOu6X'.ilffie elongation of ba1,,,,1y, 
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